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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Q=T 3397 :
i) @ IeT I |
(i) I GEI1-5 7% 9% Uk HF & & | 57 Jo1 & I/ Id% 20 931 &

37 787 &4 =Y |

(iii) ¥97 &I 6 - 10 7% I9% qT 7H] & & | 57 J941 & I Jo9% 40 o] &
e 781 &1 6T |

(iv) ¥97 &7 11 - 16 T Tcd% &R 3Hl & & | 37 J991 & It Je9% 100 3551 &
e 781 &1 6T |

()  I97 G&IT 17 - 21 % 9% Gid 37h] & & | 57 Y51 & I 9% 150 Isa)
& 311 781 g7 ey |

(vi) 97 G&IT 21 FEE | TENRT F97 & | 399 I 3794 FR-GIeaahr 7
fertea |

(vii) ¥97 G&IT 22 - 27 T%F JI% B: HHl & & | 37 Y941 & I 9% 150 Foq] G
e 781 &1 6T |

General Instructions :
(1) All questions are compulsory.

(it)  Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

(iti))  Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

(iv)  Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

(v) Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

(vi)  Question number 21 is a map-based question. Write its answers in your
answer-book.

(vii) Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.

1. <89 (|rh) % G I ol IR HIT | 1
Highlight the main objective of SAARC.

2. ‘3T TH, T U9 <l hErad, WA ToHITdes sgewt i fhm st O srefea
87 1

The phrase ‘Aya Ram, Gaya Ram’ refers to which drawback of the Indian
political system ?
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3. % ot i fopm THur I Ar=ETE ¥ YSfiarg 6, THAT h HEE AEW
TIehT T ST TehdT & ? 1

How far can Shock Therapy be called the best way to make the transition
from Communism to Capitalism ?

4. S ATCIAEl Sl BdlcHTEd 1 T8l fohaT STHT =18y 2 1

Why should popular movements not be discouraged ?

5. WA H 1989 ¥ 2014 % HIcT hl TSE-4 hi T I I F1 gl AT & ? 1

Why is the period from 1989 to 2014 called an era of coalition
governments in India ?

6. SVl % ATATTh AT IS & fohd g1 &1 ol JAEAIUT AT =T8d & 2 2x1=2

The critics of globalisation want which two areas to be revived
economically ?

7. OEE A % ®9 H Uh-cAT YOS, Hiadd SHal o a0 3@enfd 3R
A =T GId FAl &1 TS 2 2
Why did the one-party system, represented by the Communist Party,
become a source of dissent and dissatisfaction among the Soviet people ?

8. ¥ <M AW A H W T dTelt WRA i fhgl 9R TSI qiiedt
Iedg hIfTT | 4Xé=

Mention any four political parties of India which participated in the first
three general elections.

9.  3Tfuaes R & fordll Ten Tehrrcder 3TTfeler gwTa Al Tase hIfST | 2

Explain any adverse economic impact of Nuclear Weapons.

10. 319 3TE-UE % & ! YgUUT § &1 % fII¢ H13 31 39 g | 2x1=2

Suggest any two measures to protect your surroundings from pollution.

11. “ITIRM Sl ShisH § HFE(-d HATSRH I JUMF hiT | 4

Describe the sequence of events related to “Operation Enduring
Freedom”.

12. fegrsR 1971 4, IFARY S ToaAdl & I W URG qAT IIfhed™ & «ie Th
quieATdt g fovgd o forg o aitfeafeat s ol i | 4

State the circumstances which were responsible for a full-scale war
between India and Pakistan on the issue of liberation of Bangladesh in
December 1971.
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13. dfvass Fdaar qun areen rerdt HeIiEl i e o @A % ¢ Gidl & &9
H e i | 2+2=4

Explain global poverty and health epidemics as the new sources of
threats to security.

14. ‘TEI-forief} e o SR I TS HIT | 6T 1 GO feher 2 242=4
Explain the causes of ‘Anti-Arrack Movement’. What was its outcome ?

15. 39 99F 1 IR o SMuR W TS Yo STRINT Shi AT ol =IRitaa
forg i | 4

Justify the constitution of States Reorganisation Commission under the
circumstances prevailing at that time.

16. T3EYH I THNI o fohral g ThNIcHSP TNUTHT hl IR HIfTT | 2x2=4
Highlight any two negative outcomes of the coalition governments.
17. = feu sraqo st arH 9 ufew st fefafad g & st @S 1+2+2=5

Gl % o feged™ o @A foehE o a1 Afed o | 98l IQRATe] -Yshara!

Hisd o1 | JUT o AfUha f5edl 3R T TS Wl § I8 Hisd IR

T AT | GEN GHISETG] Hisd o1 | 39 Hifodd €9 9 YR A7 | ... 39 Ih

fegear H 95d-8 @M |q%|H%@ﬁaﬁWﬁT@?ﬁIWwﬁﬁﬁ§|@FﬁTﬁ

H AR HRIE I & & TRl dfesh Ao 9l 3 gg Hidd o 5E ah

A & | SR T o Yofiara) foepm@ & R o1gd 4 9 |

(i) a9 9 % 9@ fo=me enygfe fasm & ¢ #ieal & a4 3|
TIEE hHITTT |

(i)  9Ra A faem & fora afsa I UART R R A 2

(iii) STl ATSA 1 W 9gd &1 HH WRATT Fdretl | il fom 2

Read the given passage carefully and answer the following questions :

On the eve of Independence, India had before it, two models of modern
development : the liberal — capitalist model as in much of Europe and the
U.S. and the socialist model as in the U.S.S.R. There were many in India
then who were deeply impressed by the Soviet model of development.
These included not just the leaders of the Communist Party of India, but
also those of the Socialist Party and leaders like Nehru within the
Congress. There were very few supporters of the American style
capitalist development.

1) Differentiate between the two models of modern development
under consideration before independent India.

(i1)  Which model of development did India adopt and why ?
(i1i)) Why did very few Indian leaders support the capitalist model ?
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18. = feu 7u sraawu =1 steaEH Hifu qun fFfafeaa o & I AT . 2471425

3feq Tielt Uk heEreR Ja1 & ®9 H IWW off T IAh AT I TH W
off | 39 4R # gerTa Wiaeadl el sl el 3R geiepd gl =ell off | 36 rafy
T ~ryrfershl 3R TR & oAt fwdt & ot qara oMU | wal ST |3
HTHT hl hE TEARCHAT bl GlaaqH & favg AMT | HiT 91l 1 AT o T
J{STAd kT Ig L&A1 Alhdd o THgrAl 3 e <hl Tar=dl o foaeg & | g 3
Ig 9 oft R foh STeTed U genfeufaand) e g 3 I8 gE T <kl
AT TgaM ATl HeATUI—hRAsHHI ! AT F I T8 § S 3eH W&l 8 | Hidd
& foquer O S g 9, 3% 7 W1 o T Wt iR @t et Wit et
TEAHTA ToRaT ST @1 2 31 UoHIfd g2 9 smer safrid gidt s @ 2 |

()  9UEE % ®9 ¥ sfeu il i fora @ Iyl 3 39 Uk sherar qen
I AT AdT -1 e 2

(i) I AT g FAEAYTHR hg T4 a1 fhHl T Tt @ i
g HINT |

(i) TS Sl ATH TGN AT I HeAHR HRIHAT Bl IR HINT

1T AT BT =g off |

Study the passage given below and answer the questions that follow :

Indira Gandhi had emerged as a towering leader with tremendous
popularity. This was also the period when party competition became
bitter and polarised. This period also witnessed tensions in the
relationship between the government and the judiciary. The Supreme
Court found many initiatives of the government to be violative of the
Constitution. The Congress party took the position that this stand of the
Court was against the principles of democracy and parliamentary
supremacy. The Congress also alleged that the Court was a conservative
institution and it was becoming an obstacle in the way of implementing
pro-poor welfare programmes. The parties opposed to the Congress felt
that politics was becoming too personalised and that governmental
authority was being converted into personal authority.

(1) Which two achievements of Indira Gandhi as the Prime Minister
made her a towering leader with tremendous popularity ?

(i1)  Identify any one initiative of the government which was found
unconstitutional by the Supreme Court.

(iii) Highlight the pro-poor welfare programmes which the Congress
wanted to implement.
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19. = feu U srgqr @ e @ ufgu 3R fFfafed ol & s e . 1424225

TIH TS ISR 4 AU & g M& ... W g s R o
LT o THYHI T b AT Toh g hl Toal-H-slogl GHTH i qAT AU
3R wreft st St M A I F B Uk b oI w59 e S8 oo |
Jawm gg A wwiled w1 R g ge R Afvess USHifd % HE W T
HETRIRAl oh1 3¢d &1 TR SNl faed il forelt ff =eam = g = <h &rman
Wt of |
i) Tgfw fove g & o Afvgs woHifa & o9 W 3@ 89 el @

TETIRET <hl U&= <hIfoTT |

(i) 39 < HE™IhAT o 3¢ B o YHUTH hl IR it |
Gii) ¥ wirat fava & &g ft g Il Feast ol K8 gaifad T Hehdl
off 2 Tqse hifST |

Read the given passage carefully and answer the following questions :

The United States dropped two atomic bombs on the Japanese
cities of ..... . The supporters of U.S. have argued that the dropping of the
atomic bomb was necessary to end the war quickly and to stop further
loss of American and Allied lives. ..... the consequence of the end of the
Second World War was the rise of two new powers on the global stage

with the ability to influence events anywhere on earth.

) Identify the two new powers that rose on the global stage after the
Second World War.

(i)  Explain the outcome of the emergence of these two new powers.

(iii)) How could these powers influence events anywhere on earth ?

Explain.
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20. feu U wraE & UsHifaw WEwEtE |, g s sl @), @), ©, © au

® g fafed fopen T g | A= @ T STEHH b STUR W e TgEE hifg
3R ITW-YFEdhT H Ik W@ AW, 3Tl HU T&AT a1 TrEf-Ud AeR Higd

fofau - 5x1=5
(i)  JATHT, YR HT 2947 T |

(i) % ST &l HIUH Y1 1 A SAFETH 1959 H 83T |

(ii) 98 Us¥ 58 18 Hal™ TUSY <hal SITdl AT ?

(iv) 98 Usd a8 arandt 3dT 3.00. T, THelurg 1 ave-y o |
(v) 909 WRA i JIH e W, THHAN ST R H1 T8 T |
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In the given political outline map of India, five States are marked as
@), B, 0, D and® . Identify them with the help of the information
given below and write their correct names in your answer-book along
with the serial number of the information used and the related alphabet

59/2/3

in the map :

(i)  The 29t State of India, Telangana.

(i1))  The State where Nagpur Session of the Congress Party was held in
1959.

(iii) The State which used to be called the Madras State earlier.

(iv) The State to which the Communist leader E.M.S. Namboodiripad
belonged.

(v)  The home State of Rajkumari Amrit Kaur, the first Health
Minister of free India.
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Fig:  [AEliiea 397 o gIEETEd et & 107G, 397 G637 20 F T W

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 20 :

(20.1) 1960 T At foueft gai 3 <o 9T § 1 fieh FwTg off 2
(20.2) TS I AATT = HIUH Bl BTG T TTET hl TATIAT F1 I 2
(20.3) ToemMY™ & MR W, 59 9 fohH TR 317 <o 4 fie ot 2 2+2+1=5

(20.1) What role did the opposition parties play in the Lok Sabha up to
1960 ?

(20.2) Why did some Congressmen leave the Congress and form the
Swatantra Party ?

(20.3) How was the Jana Sangh different from other parties in terms of

ideology ?

21. feu Mo s @1 st Hifsre e frafaRed et & 3@ @i 1+2+2=5

(21.1) =9 ! fo@m = fore aeferat 1 i ga1 w2

(21.2) TEfehat & g ufedt # fe@m o fog @ § 2 ¥ fug w4 @ oo
forameamaaTt =1 gfaffees st 8 2

(21.3) TG I FIT Twa¥ <al & ?

59/2/3 9 P.T.O.
Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

Study the cartoon given below and answer the following questions :

(21.1) Why has the bicycle been chosen to represent China ?

(21.2) What do the symbols within the two wheels stand for ? Which two
economic ideologies do the symbols represent ?

(21.3) What message does the cartoon convey ?

g :  HiciRad ge Facr gieaTaa ghgniaal & 079, 397 &7 21 & € WE

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21.

(21.1) H T LT a9 == 6t o7feiss A=t & = Fa Tose Hifve |
(21.2) I g3 =1 FAIFTEAT o THRIHE THET 1 IHH HINT | 2+3=5

(21.1) Differentiate between the economic policy of the U.S. and that of
China.

(21.2) Assess the negative impacts of the rising Chinese economy.

22. ‘o1 fumg ol © w1 IR B 2 WA TSHIfA | 39k ToHIfdeh 3¢ o1 9ui
iR | 2+4=6

AT

A N FeeH I & g H faehmr & fatig § =@ U e
1 90 HINC | I AGleH el AT HE TA T AN $EHT TROTH a1
[EESIN 3+3=6
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23.

24.

59/2/3

What is meant by ‘Other Backward Classes’ ? Describe their political rise

in the Indian politics.
OR

Describe the ‘anti-foreigner movement’ led by the All Assam Students
Union. When and how did it come to an end and with what result ?

“ImieRT % WY TreRl § gUR AT YRA o fT et wEwqut 8 |7
3 39 Y ¥ HeUd & ? IUYh dehl g 3194 I h! gfee shifT |

HAIAT

feror uftrn & 9 % ff o wEAm ff TR TR w # & (drh) A
fireRT ST THTaTl o geieh HIT |

“It is very important for India to improve its relations with the U.S.”. Do
you agree with this statement ? Support your answer with suitable
arguments.

OR

Evaluate the role and limitations of SAARC as a forum for facilitating

economic cooperation among Asian countries.

1969 H BT HIE Ul o TS o foheal I RN i T8¢ HIWY | 3x2=6

AT

IR | 1980 T AEATAY AT U & foTu Iatgrfl wron il wose fHifve | |

A9 % iy off I9R AT | 4+2=6

Explain any three reasons for the split in the Congress Party in 1969.
OR

Explain the reasons which led to the mid-term elections in India in 1980.
Highlight the outcomes of this election also.

11 P.T.O.
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25. OYEIRUT § WRA I hd ITfad ham 8 3R WRa ARt i 8 JuTfad o

TET § 2 SUGh dehl gRI 3194 IR 1 gfE hifs | 6
SPC]

“arsht frerfal aifr sem-orem e’ — 38 fagra &1 3qe dfea

Tieror T | 6

How has globalistion impacted on India and how is India in turn
impacting on globalisation ? Support your answer with suitable
arguments.

OR

Examine the concept of “Common but differentiated responsibilities” with
the help of examples.

26. Hifoara yomeft i foredl <fie formyanaett =1 avia Hifs | 3x2=6
A AgAT
ARl bl Bl <X o T B M3I9d o4 & foru fop gffeafaat 4 snew
fora 2 avfa Shifd | 6
Describe any three features of the Soviet system.
OR

What circumstances compelled the super-powers to have military
alliances with smaller countries ? Describe.

27. THHCH fIva T T TUsg St SIS TEenedi & Hgwd ol AheH i | 6
CPe)|

T, SATdehaTg 3T TEMEIRT S8 @ali 1 ehreell sid & foft Yrd i fha
TR <h! FLET i TTATHehdT ¢l FMET ? 3794 gera Sie. | 6

Assess the importance of international organisations like the United
Nations in the contemporary world.

OR
Suggest the type of security India should prefer to fight the threats like

poverty, terrorism and epidemics.
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